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r=ucosa—vsinqa, y=usinoa+vcosa £ Y
Ty = COSQU, Ty = — SN
Yy =S, Y, = COSQ
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Zy =  Zp COSQ+ Zy, SN«

Zy = —Zp SO+ 2, COS
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(22)u = (22)2Tu + (Z:L’)y?/u
(22)v = (22)2T0 + (22)
(2y)u = (2y) 2Ty + (2y)yYu = Zyz COSQ + 2 SN
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Zypy COS O+ Zzy SIN Q1

Zr)yYp = —Zgz SO+ Zyy COS QX

Zy)yYv = —Zyz SN QA+ 24y COS O
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Zuuw = (%) COSQ+ (2,)ySin

= 2..C0S° a + 224y COS QU SIN (¢ + 2y, sin® o

Zoy = —(2z)psina+ (2y)y cOSQ
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Qv — 224y, COS (v SIN Q¢ + 2y COS™ (X
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Zuu + 2oy = Zpp(COS? o+ sin® @)

+22,,(cos acsin v — cos asin «)
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+ 2, (sin” o 4 cos” o)

= Zpx T 2y
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